BILL OF MATERITALS
ITEM| OTY PART No DESCRIPTION
| 95-313 |WINDOW LATCH BUTTON
| 195-314-01|WINDOW LATCH LEVER
| 195-314-02|WINDOW LATCH TUBE
4 65-500 |6-32 NYLOCK NUT
4
|
|

65-501 [6-32 SCREW
65-507 [10-32 NYLOCA NUT
069-511

el Eerl ROal Ny NPUN B B

10-32 SCREW

MOUNTING HOLES TO
BE DRILLED 9/64"
HOLES [N WINDOW TO
BE 7/8" & [ 9/16"
ON | 3/4" CENTERS

TRIM, FIT & WELD
T0 ROLL CAGE

0 [1oocToe] JEB [ INITIAL RELEASE

REV | DATE DRN [ DESCRIPTION
PLACE LEVER ON INSIDE OF a rRACTIONS 4 WINDOW LATCH KIT
BUTTON & MARK HOLE CENTER. %%E?%é%é@& GENERAL ARRANGEMENT
DRILL 3/16 HOLE THRU BUTTON. ANGLES +0.5"
C’SINK OUTSIDE OF BUTTON SO S & W RACE CARS MATL:
THAT SCREW IS FLUSH, ‘g‘pRM\ENNGNOCN\‘TTYEI CPHAUR\C9H47R5D Part No: 95-314 DWR No: 95-314 - ?

PDF created with pdfFactory trial version www.pdffactory.com — — — — — — — — — — — —



http://www.pdffactory.com

